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1 fand g are functions such that

f(x) = 2 and  g(x) =4x*

2
X

(a) Find f(-5)

(b) Find fg(1)

(Total for Question 1 is 3 marks)
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2 The functions fand g are such that
f(x)=3x—1 and gkx)=x>+4

(a) Find f'(x)

Given that fg(x) = 2gf(x),
(b) show that 15x*—12x—-1=0

)

(Total for Question 2 is 7 marks)




www.yesterdaysmathsexam.com

( )
Summer 2020 Paper 1 019

3 fand g are functions such that

fx) = lTi and g(x)=32x+1)
(a) Find g(5)

(1)
(b) Find gf(9)
............................ (2)
(c) Find g7'(6)
............................ (2)

(Total for Question 3 is 5 marks)
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4 The functions f and g are such that

4
f(x)=3x*+1 forx>0 and gx)=— forx>0
X

(a) Work out gf(1)

The function h is such that h = (fg)!
(b) Find h(x)

(Total for Question 4 is 6 marks)
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5 For all values of x
fx)=x+1)y and gx)=2x—-1)

(a) Show that gf(x) = 2x(x + 2)

(2)
(b) Find g''(7)

(Total for Question 5 is 4 marks)
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6 f(x) = 4sinx®

(a) Find f(23)
Give your answer correct to 3 significant figures.

gx)=2x-3

(b) Find fg(34)
Give your answer correct to 3 significant figures.

h(x) = (x + 4)?
Ivan needs to solve the following equation h(x) = 25
He writes

(x+4)y=25
x+4=5
x=1
This is not fully correct.
(c) Explain why.

(Total for Question 6 is 4 marks)
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7 The function f is given by

flx)=2x-4
(a) Show that f-!(50)=3

(2)
The functions g and h are given by

g(x)=x+2 and h(x) =x?

(b) Find the values of x for which

hg(x) =3x>+x—1

(Total for Question 7 is 6 marks)

\
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8 f(x)=3Ux
gx)=2x+3
h(x) = fg(x)
Find h™'(x)

(Total for Question 8 is 3 marks)
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9 The functions g and h are such that
1
gx)=132x -5 h(x) = .
(a) Find g(16)
(1)
(b) Find hg'(x)
Give your answer in terms of x in its simplest form.
hg'(x)=
3)

(Total for Question 9 is 4 marks)
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10 The functions f and g are such that

flx)=5x+3 g(x)=ax+b  where a and b are constants.

g(3)=20 and f'(33)=g(1)

Find the value of a and the value of b.

(Total for Question 10 is 5 marks)




